

ADAMS ATOMS

DECEMBER 3, 2021

PTO NEWSLETTER



WHAT'S INSIDE

Adams Friendsgiving

PTO Happenings

Atoms Recap

Friends of Adams Forms



We hope everyone had a wonderful Thanksgiving! To help continue the spirit of giving, we're kicking off a "Friendsgiving" for our **Friends of Adams Fund** and closet. We're collecting a variety of items to help out some of our fellow Atoms.

If you're able to help, please check the <u>SignUp Genius link</u> for ideas. And if you happen to have something else similar that's not listed, we'll accept those too. Thank you for supporting fellow <u>Atoms</u>!

Please send items to the office marked for the Friends of Adams by December 17.



Mrs. DeLude was our teacher representative at our November PTO Meeting! She shared the various projects going on in her classroom.

Donations: If you have any empty and clean cottage cheese or yogurt containers, styrofoam egg cartons, or foam meat trays,these all are helpful material to donate to the Mrs. DuLude's Art Class.

If you are looking for others ways to support Art at Adams here is an Amazon Wish List link: <u>https://www.amazon.com/hz/wishlist/ls/332E6SR4B5BFM?ref_=wl_share</u> or search Mrs. DuLude's Amazing Art Class Wish List on Amazon.

ShopWithScrip*

Gift Cards that Give Back

Orders accepted now through December 8th!

When you shop, your Adams PTO receives a percentage back at no cost to you!

Order forms were sent home with students. You can also find them in the PTO Update!

Payments can be made in cash, checks payable to Adams PTO. Venmo and PayPal are now accepted!

> Venmo: @AdamsPTO paypal.me/adamselementarypto



Email alexysdaut@gmail.com with any questions!

THE ATOMS PTO RECAP

SAVE THE DATE

- December 23 Papa Johns Restaurant
- December 23 1/2 Day of School January 3 - Back to School
- Monthly PTO Meetings for the Winter
- Monday, December 13 @ 6PM Monday, January 10 @ 6PM

Thank you to all those who donated pies, plates, napkins, forks and pie servers for our Teacher Thanksgiving Table! We sure our thankful for our teachers as well as our Adams Family!







Family Order Form

Adams Elementary PTO

Please include an e-mail and/or phone number & your child's teacher. Turn in forms at office. More SCRIP retailers at www.glscrip.com. Contact: Alexys Daut at alexysdaut@gmail.com. PayPal: paypal.me/adamselementarypto

Name Check #								Customer # Order Date				
												Clothing & Accessor
Product	%	QTY	Total	Product	%	QTY	Total	Product	%	QTY	Total	
Athleta \$100.00	14%		\$	Applebee's \$10.00	8%		\$	Barnes & Noble \$10.00	8%		\$	
Athleta \$25.00	14%		\$	Applebee's \$25.00	8%		\$	Barnes & Noble \$25.00	8%		\$	
Carter's \$25.00	10%		\$	Bob Evans	10%		\$	Barnes & Noble \$5.00	8%		\$	
Children's Place \$25.00	12%		\$	Restaurants® \$10.00 Bob Evans	10%		\$	Barnes & Noble College Bookstores \$10.00	8%		\$	
Claire's \$10.00	9%		\$	Restaurants® \$25.00			·	Barnes & Noble College	8%		\$	
Express \$25.00	10%		\$	Buffalo Wild Wings® \$10.00	8%		\$	Bookstores \$100.00				
Gap \$100.00	14%		\$	Buffalo Wild Wings® \$25.00	8%		\$	Barnes & Noble College Bookstores \$25.00	8%		\$	
Gap \$25.00	14%		\$	Cheesecake Factory	5%		\$	Celebration Cinema \$10.00	4%		\$	
H&M \$25.00	7%		\$	\$25.00 Cracker Barrel \$25.00	8%		\$	Fandango \$25.00	4%		\$	
HomeGoods \$100.00	7%		\$	Logan's Roadhouse	8% 10%		\$ \$	Topgolf \$50.00	8%		\$	
HomeGoods \$25.00	7%		\$	\$25.00	10%		φ	Fast Food		I	1	
L.Bean \$100.00	16%		\$	Noodles & Company \$10.00	8%		\$	Product	%	QTY	Tota	
L.Bean \$25.00	16%		\$	Olive Garden \$10.00	8%		\$	Arby's \$10.00	8%		\$	
ands' End \$100.00	15%		\$	Olive Garden \$25.00	8%		\$	Burger King \$10.00	4%		\$	
ands' End \$25.00	15%		\$	Panda Express \$25.00	8%		\$	Chipotle Mexican Grill	10%		\$	
ands' End Kids 3100.00	15%		\$	Uno Pizzeria & Grill \$25.00	12%		\$	\$10.00 Cinnabon \$25.00	6%		\$	
ands' End Kids \$25.00.	15%		\$	Discount Store & Ou	ILLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLLL			Domino's \$10.00	8%		\$	
/arshalls \$100.00	7%		\$	Product	%	QTY	Total	Dunkin' Donuts \$10.00	3%		\$	
Marshalls \$25.00	7%		\$	Five Below \$25.00	2.5%		\$	Dunkin' Donuts \$25.00	3%		\$	
Old Navy \$100.00	14%		\$	Sam's Club \$100.00	2.5%		\$	Little Caesars Pizza	8%		\$	
Old Navy \$25.00	14%		\$	Sam's Club \$25.00	2.5%		\$	\$20.00 Panera Bread \$10.00	8%		\$	
OshKosh \$25.00	10%		\$	Target \$10.00	2.5%		\$	Panera Bread \$25.00	8%		⊅ \$	
Г.J. Maxx \$25.00	7%		\$	Target \$100.00	2.5%		\$	Panera Bread \$25.00 Panera Bread \$50.00	8%		э \$	
Г.J.	7%		\$	Target \$25.00	2.5%		\$	Panera Bread \$50.00	8%		\$ \$	
Maxx/Marshalls/HomeG oods/Sierra \$100.00				Target \$50.00	2.5%		\$	\$10.00	0%		Ψ	
Г.J. Maxx/Marshalls/HomeG	7%		\$	Walmart \$10.00	2.5%		\$	Pizza Hut \$10.00	8%		\$	
oods/Sierra \$25.00				Walmart \$100.00	2.5%		\$	Qdoba Mexican Grill \$25.00	7%		\$	
Department Store				Walmart \$25.00	2.5%		\$	Starbucks \$10.00	4.5%		\$	
Product		QTY	Total	Walmart \$50.00	2.5%		\$	Starbucks \$25.00	4.5%		\$	
CPenney \$25.00	5%		\$	Electronics & Office				Starbucks \$5.00	4.5%		\$	
(ohl's \$100.00	4%		\$	Product	%	QTY	Total	Subway Restaurants	4.5%		\$	
Kohl's \$25.00	4%		\$	Best Buy \$100.00	4%		\$	\$10.00 Taco Bell \$10.00	5%		\$	
Macy's \$100.00	10%		\$	Best Buy \$25.00	4%		\$	Taco Bell \$25.00	5%		\$	
Macy's \$25.00	10%		\$	1					J /0		IΨ	



\$

Family Order Form

Adams Elementary PTO

Please include an e-mail and/or phone number & your child's teacher. Turn in forms at office. More SCRIP retailers at www.glscrip.com. Contact: Alexys Daut at alexysdaut@gmail.com. PayPal: paypal.me/adamselementarypto

Name Customer #													
Check # Order Date													
Fast Food					Home Improvement					Specialty Retailer			
Product		%	QTY	Total	Product	%	QTY	То	tal	Product	%	QTY	Total
Tim Hortons	\$10.00	5%		\$	Ace Hardware \$100.00	4%		\$		Container Store \$100.00	9%		\$
Wendy's \$10	0.00	6.5%		\$	Ace Hardware \$25.00	4%		\$		Container Store \$25.00	9%		\$
Gas & Aut	to		•	•	Home Depot® \$10.00	4%		\$		HoneyBaked Ham	12%		\$
Product		%	QTY	Total	Home Depot® \$100.00	4%		\$		\$25.00			
Marathon \$2	25.00	3%		\$	Home Depot® \$25.00	4%		\$		Jo-Ann Fabric and Craft Stores \$25.00	6%		\$
Shell \$25.00)	1.5%		\$	Lowe's \$100.00	4%		\$		Michaels \$25.00	4%		\$
Shell \$50.00)	1.5%		\$	Lowe's \$20.00	4%		\$		Sporting Goods & O	utdoors	5	•
Speedway \$	\$25.00	4%		\$	Lowe's \$25.00	4%		\$		Product	%	QTY	Total
Speedway \$	\$50.00	4%		\$	Menards \$100.00	3%		\$		Bass Pro Shops \$25.00	10%		\$
Grocery			Menards \$25.00	3%		\$		Cabela's \$25.00	10%		\$		
Product		%	QTY	Total	The Home Depot® \$10.00	4%		\$		Dick's Sporting Goods \$100.00	8%		\$
Family Fare Supermarke		2%		\$	The Home Depot® \$100.00	4%		\$		Dick's Sporting Goods \$25.00	8%		\$
Family Fare Supermarke		2%		\$	The Home Depot®	4%		\$		Dunham's Sports \$25.00	8%		\$
Gordon Foo Store \$25.00		4%		\$	\$25.00 Online Shopping			<u> </u>		Golf Galaxy \$100.00	8%		\$
Instacart \$25	5.00	4%		\$	Product	%	QTY	То	tal	Golf Galaxy \$25.00	8%		\$
Meijer \$100.	.00	3%		\$	1-800-Baskets \$50.00	12%		\$		REI \$25.00	8%		\$
Meijer \$25.0	00	3%		\$	1-800-Flowers \$50.00	12%		\$		Travel			
Meijer \$50.0	00	3%		\$	Amazon.com \$10.00	2%		\$		Product	%	QTY	Total
Health & Beauty					Amazon.com \$100.00	2%		\$		Disney \$100.00	3%		\$
Product		%	QTY	Total	Amazon.com \$25.00	2%		\$		Disney \$25.00	3%		\$
Bath & Body \$10.00	/ Works	12%		\$	Apple Store/Apple.com	5%		\$		Hilton \$100.00	2%		\$
Bath & Body \$25.00	/ Works	12%		\$	\$15.00 Apple Store/Apple.com \$25.00	5%		\$		Marriott Hotels & Resorts \$100.00	6%		\$
BoRics \$25.	.00	8%		\$	Groupon.com \$25.00	7%		\$		Marriott Hotels & Resorts \$25.00	6%		\$
Rite Aid \$25	5.00	4%		\$	iTunes & App Store	5%		\$		Universal Prepaid Ca	ards		
ULTA \$25.0	0	6%		\$	\$15.00	50/		\$		Product	%	QTY	Total
Walgreens \$	\$25.00	5%		\$	iTunes & App Store \$25.00	5%		Ĺ		Visa Gift Card - No Activation Fee \$100.00	1.25%		\$
Home Decor		•	Shutterfly \$25.00	9%		\$		Visa Gift Card - No	1.25%		\$		
Product		%	QTY	Total	Wayfair \$100.00	6%		\$		Activation Fee \$50.00			
Bed Bath & \$100.00	Beyond	7%		\$	Zappos.com \$25.00	8%		\$					
Bed Bath & \$25.00	Beyond	7%		\$	Specialty Retailer	%	QTY	То	tal				
φz5.00								110					
buybuyBAB	Y \$25.00	7%		\$	American Girl \$25.00	9%	<u></u>	\$					
		7% 8%		\$ \$				-					

\$